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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindji; but the same medium should
be used throughout the paper.
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I. “Organizational behaviour is an interface between organization and the individual”.
Explain how complex has this interface been keeping in view the changing models

of man over a period of time ? {15)

OR

p T PTO.




5221 2

“Organizational behaviour is often referred to as “soft science’, because it can’t
reach the precision of predictability that exists in physical science.” Explain the
statement with reference to the experimental basis of Organizational behaviour

and its limitations.

“WWW@W%WWWV’WWW%W
e g R A W e ¥ T e R Sfew I ¥ 7 ey |

Jterdl

‘ST TTER ER A R @ AW A S S 7, o @t qg e faw
%Wﬁ%aﬁm%%aﬁmml”mm%mma
JemaN = TAid gU T@ U ARl i |

2. “Job related attitudes’ are important in understanding Organizational behavior”.

Explain the statement with examples. (15)
OR

What do you understand by attitude ? Explain its functions and barriers.
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3. “Body gives a physical shape to a human being. while perception gives psychological

shape to it” ? Elucidate the statement with proper reasons. (15)
OR

What do you mean by perceptual errors ? Explain how can we remove these

errors ?
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4.  What do you mean by ‘Big Five’ ? How are they related to occupational category ?
Explain. (15)
OR
Briefly explain the following :
(a) Freudian stages of development of personality @)
(b) Immaturity-maturity theory of Chris Argyris 8)
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5. Write short note on any three of the following : . (5 marks each)
(a) Machiavalism
(b) Attribution error
(c) Job satisfaction
(d) Barriers of communication

(¢) Communication feed back
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